

# Postal Voucher Fulfilment Costs (Print, Pack & Delivery)

**Contact: D Galmiche** 

Tel (UK): 00 44 (0)131 608 0008



## Postal Voucher Pricing

Costs for Voucher fulfilment are comprised of two parts.

- Stationery Costs (Cost to procure and print vouchers, presentation wallets and envelopes)
- Postal Fulfilment Costs (Costs to ship to buyers (per item))

#### **Stationery Costs**

(NB. Please allow 2-4 weeks from date of your order, for Postal voucher fulfilment services to start.)

#### **Option 1: Postal Wallet with Silk Finish**

(includes Voucher Wallet branded with your logo, Wallet has cut-outs to hold voucher in place, Voucher, and Envelope)

a) Voucher + Wallet with white envelope: SILK finish

Quantity	Unit Cost (excl. VAT)	Total (excl. VAT)
500	£1.27	£635.00
1000	£0.94	£937.50

#### b) Voucher + Wallet with coloured envelope: SILK finish

Quantity	Unit Cost (excl. VAT)	Total (excl. VAT)
500	£1.69	£846.00
1000	£1.27	£1273.50

#### Option 2: Postal Wallet with textured Plike Finish

(includes Voucher Wallet branded with your logo, Wallet has cut-outs to hold voucher in place, Voucher, and Envelope)

#### a) Voucher + Wallet with white envelopes: Luxury PLIKE finish

Quantity	Unit Cost (excl. VAT)	Total (excl. VAT)
500	£1.71	£852.75
1000	£1.52	£1522.50

#### b) Voucher + Wallet with coloured envelopes: Luxury PLIKE finish

Quantity	Unit Cost (excl. VAT)	Total (excl. VAT)
500	£2.13	£1062.75
1000	£1.86	£1858.50

#### Postage Costs

(Includes Postage Fee, Print out of voucher T&C's, Printed address to envelope, Print to voucher (or card load to NFC Reloadable Plastic Card), VoucherCart admin charge)

VoucherCart will invoice monthly for the total value of all fulfillments (unique voucher print, pack and send) according to the pricing schedule below.

(ie. The prices below represent the minimum price which should be set in your VoucherCart Account Postal Price settings (Price Buyer will pay at checkout). Should you wish to add additional postal charge to buyers, simply adjust your VoucherCart Postal Prices in **Settings > Postal Delivery Methods** to adjust the postal charge the buyer pays at checkout.)

Delivery Type/Location	Price (excl. VAT)
UK Standard Delivery (3-5 Days)	£2.69
UK 1st Class	£2.99
UK Signed For - 1st Class	£4.99
Europe (6-10 Days)	£3.99
ROW (10-14 Days)	£4.99

### Non-Receipt Policy

In the event of a customer failed delivery (customer or recipient has claimed to have not received voucher by post) where the customer has contacted VoucherCart to notify of the non-delivery, VoucherCart will resend the voucher.

This cost will be billable to you and will appear in your statement as (Resend).

#### VoucherCart will:

- Contact the customer to confirm postal address.
- Resend the voucher via standard delivery option.
- Issue an additional electronic version of the voucher to the customer via email in the event that the 2nd delivery should fail.